2009 Grade 3 Reading — Final Solution

#++ Comparison of [lem characteristic curves (ICCs): New vs. 0ld #++ parameter]
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Form 17: N of Items = 8; Cor. A = 0.81; *Position Shift = 1.88
Form 18: N of Items = 5; Cor. A = 0.98; Position Shift =-11.00 "
Form 19: N of Items = 7; Cor. A = 0.46; Position Shift = 0.86
Form 20: N of Items = 7; Cor. A = 0.10; Position Shift = 0.86
All Forms: N of Items = 27; Cor. A = 0.66; Position Shift = -1.04

*Position shift is based on the final anchor set.
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hiro.fukuhara
Text Box
Form 17: N of Items = 8; Cor. A = 0.81; *Position Shift = 1.88
Form 18: N of Items = 5; Cor. A = 0.98; Position Shift  =-11.00
Form 19: N of Items = 7; Cor. A = 0.46; Position Shift = 0.86
Form 20: N of Items = 7; Cor. A = 0.10; Position Shift = 0.86
All Forms: N of Items = 27; Cor. A = 0.66; Position Shift = -1.04

*Position shift is based on the final anchor set.
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Final Solution

txx Comparison of [tem characteristic curves (ICCs): New vs. Old #* +[oparameter
III|Ib - SRR =l
| [Form 17: N of Items = 8; Cor. B = 0.90; *Ave. B Change = -0.08; **Position Shift = 1.88
Form 18: N of Iltems = 5; Cor. B = 0.90; Ave. B Change = -0.41; Position Shift =-11.00
Form 19: N of Iltems = 7; Cor. B = 0.95; Ave. B Change = 0.25; Position Shift = 0.86
Form 20: N of Iltems = 7; Cor. B = 0.70; Ave. B Change = -0.07; Position Shift = 0.86
All Forms: N of Items = 27; Cor. B = 0.83; Ave. B Change = -0.05; Position Shift = -1.04
(SD B Change = 0.31)
*B parameter is on the IRT scale. Change = New B - Old B.
**Position shift is based on the final anchor set.
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hiro.fukuhara
Text Box
Form 17: N of Items = 8; Cor. B = 0.90; *Ave. B Change = -0.08; **Position Shift = 1.88
Form 18: N of Items = 5; Cor. B = 0.90; Ave. B Change = -0.41; Position Shift  =-11.00
Form 19: N of Items = 7; Cor. B = 0.95; Ave. B Change = 0.25; Position Shift = 0.86
Form 20: N of Items = 7; Cor. B = 0.70; Ave. B Change = -0.07; Position Shift = 0.86
All Forms: N of Items = 27; Cor. B = 0.83; Ave. B Change = -0.05; Position Shift = -1.04 
                                                                   (SD B Change = 0.31)
*B parameter is on the IRT scale. Change = New B - Old B.
**Position shift is based on the final anchor set.
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2009 Grade 4 Reading — Final Solution

L o

#++ Comparison of [tem characteristic curves (ICCs): New

0l

a

* ¥ ¥ |a_parameter

Form 17: N of Items = 7; Cor. A = 0.64; *Position Shift = 3.14
Form 18: N of Items = 6; Cor. A = 0.71; Position Shift = 0.83 O
Form 19: N of Items = 5; Cor. A = 0.89; Position Shift = 3.40
Form 20: N of Items = 6; Cor. A = 1.00; Position Shift = -5.50
All Forms: N of Items = 24; Cor. A = 0.83; Position Shift = 0.46

*Position shift is based on the final anchor set.
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hiro.fukuhara
Text Box
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hiro.fukuhara
Text Box
Form 17: N of Items = 7; Cor. A = 0.64; *Position Shift = 3.14
Form 18: N of Items = 6; Cor. A = 0.71; Position Shift  = 0.83
Form 19: N of Items = 5; Cor. A = 0.89; Position Shift = 3.40
Form 20: N of Items = 6; Cor. A = 1.00; Position Shift = -5.50
All Forms: N of Items = 24; Cor. A = 0.83; Position Shift = 0.46
                                                   
*Position shift is based on the final anchor set.


2009 Grade 4 Readlng

Final Solution

s+t Comparison of Item characteristic curves (I1CCs): New vs. Old ## #[bparameter]
new D 1t
| [Form 17: N of ltems = 7; Cor. B = 0.91; *Ave. B Change = 0.13; **Position Shift = 3.14
Form 18: N of Iltems = 6; Cor. B = 0.96; Ave. B Change = 0.07; Position Shift = 0.83
Form 19: N of Iltems = 5; Cor. B = 0.74; Ave. B Change = 0.19; Position Shift = 3.40
Form 20: N of Iltems = 6; Cor. B = 0.99; Ave. B Change = -0.22; Position Shift = -5.50
All Forms: N of Iltems = 24; Cor. B = 0.89; Ave. B Change = 0.04; Position Shift = 0.46
! (SD B Change = 0.29)
| |*B parameter is on the IRT scale. Change = New B - Old B.
**Pgsition shift is based on the final anchor set.
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hiro.fukuhara
Text Box
Form 17: N of Items = 7; Cor. B = 0.91; *Ave. B Change = 0.13; **Position Shift = 3.14
Form 18: N of Items = 6; Cor. B = 0.96; Ave. B Change = 0.07; Position Shift  = 0.83
Form 19: N of Items = 5; Cor. B = 0.74; Ave. B Change = 0.19; Position Shift = 3.40
Form 20: N of Items = 6; Cor. B = 0.99; Ave. B Change = -0.22; Position Shift = -5.50
All Forms: N of Items = 24; Cor. B = 0.89; Ave. B Change = 0.04; Position Shift = 0.46 
                                                                   (SD B Change = 0.29)
*B parameter is on the IRT scale. Change = New B - Old B.
**Position shift is based on the final anchor set.


o

— O D RO O D A O G

' LD W SN TS

O D e €D

C | o = el

~

(e Y ]
v oo | |

SR S s o
P |

=

<h OO
L

O CO O D =

_r_l_ L

2009 Grade 4 Reading -

#++ Comparison of
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Final Solution

tic curves (ICCs): New vs. Old *##[cparameter]
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2009 Grade 5 Reading — Final Solution

s+x Comparison of [tem characteristic curves (ICCs): New vs. 0ld #++[aparameter]

“|[Form 17: N of Items = 6; Cor. A = 0.94; *Position Shift = 4.00
||Form 18: N of Iltems = 5; Cor. A = 0.84; Position Shift = 3.80
Form 19: N of Items = 5; Cor. A = 0.64; Position Shift = 2.40
! Form 20: N of Items = 8; Cor. A = 0.73; Position Shift = 2.13
’l _|All Forms: N of Items = 24; Cor. A = 0.80; Position Shift = 3.00 °
{|*Position shift is based on the final anchor set.
0-
97
8] B O
® O
7 ®
@
O
b °
¥ 2
; 5 A0
1 I I ] | | | | | T | | | I | | T 1 T T | T T | T T
0.0110.0120.0130.0140.0150.0160.0170.0180¢0

0210.0220.

023 0.024

N

]
oo

025 0.

BAREERREEE !

026 0.0270.023



hiro.fukuhara
Text Box
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hiro.fukuhara
Text Box
Form 17: N of Items = 6; Cor. A = 0.94; *Position Shift = 4.00
Form 18: N of Items = 5; Cor. A = 0.84; Position Shift  = 3.80
Form 19: N of Items = 5; Cor. A = 0.64; Position Shift = 2.40
Form 20: N of Items = 8; Cor. A = 0.73; Position Shift = 2.13
All Forms: N of Items = 24; Cor. A = 0.80; Position Shift = 3.00

*Position shift is based on the final anchor set.
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2009 Grade 5 Reading — Flnal Solution

tem characteristic curves (ICCs): New vs. Old #+#[bparameter]

#+x+ Comparison of

newb L e L o 1g =—
] 4+ |Form 17: N of Items = 6; Cor. B = 0.78; *Ave. B Change = 0.06; **Position Shift = 4.00
1 |Form 18: N of ltems = 5; Cor. B = 0.99; Ave. B Change = 0.04; Position Shift = 3.80 o)
Form 19: N of Items = 5; Cor. B = 0.75; Ave. B Change = 0.07; Position Shift = 2.40
1 |Form 20: N of ltems = 8; Cor. B = 0.77; Ave. B Change = 0.16; Position Shift = 2.13
7 |All Forms: N of Items = 24; Cor. B = 0.90; Ave. B Change = 0.04; Position Shift = 3.00
(SD B Change = 0.32)
*B parameter is on the IRT scale. Change = New B - Old B.
**Pgosition shift is based on the final anchor set.
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Text Box
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hiro.fukuhara
Text Box
Form 17: N of Items = 6; Cor. B = 0.78; *Ave. B Change = 0.06; **Position Shift = 4.00
Form 18: N of Items = 5; Cor. B = 0.99; Ave. B Change = 0.04; Position Shift  = 3.80
Form 19: N of Items = 5; Cor. B = 0.75; Ave. B Change = 0.07; Position Shift = 2.40
Form 20: N of Items = 8; Cor. B = 0.77; Ave. B Change = 0.16; Position Shift = 2.13
All Forms: N of Items = 24; Cor. B = 0.90; Ave. B Change = 0.04; Position Shift = 3.00 
                                                                   (SD B Change = 0.32)
*B parameter is on the IRT scale. Change = New B - Old B.
**Position shift is based on the final anchor set.
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2009 Grade 5 Reading — Final Solution

#++ Comparison of Item characteristic curves (I1CCs): New vs. Old ## ¢[cparameter]



hiro.fukuhara
Text Box
c parameter


n |"' W

EWQ

1.2

L T

=

2009 Grade 6 Readlng

s+« Comparison of Item characteristic curves

Form 17: N of Items = 6; Cor. A = 0.96; *Position Shift=1.17
Form 18: N of Items = 6; Cor. A = 0.97; Position Shift = 1.50
Form 19: N of Items = 6; Cor. A = 0.96; Position Shift = 0.17
Form 20: N of Items = 6; Cor. A = 0.90; Position Shift = 1.50
All Forms: N of Items = 24; Cor. A = 0.90; Position Shift = 1.08

*Position shift is based on the final anchor set.
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hiro.fukuhara
Text Box
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hiro.fukuhara
Text Box
Form 17: N of Items = 6; Cor. A = 0.96; *Position Shift = 1.17
Form 18: N of Items = 6; Cor. A = 0.97; Position Shift  = 1.50
Form 19: N of Items = 6; Cor. A = 0.96; Position Shift = 0.17
Form 20: N of Items = 6; Cor. A = 0.90; Position Shift = 1.50
All Forms: N of Items = 24; Cor. A = 0.90; Position Shift = 1.08

*Position shift is based on the final anchor set.
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2009 Grade 6 Reading — Final Solution

¢+ Comparison of [tem characteristic curves (ICCs): New vs. 0ld +++[oparameter]
® ity i iq, o I
[ Form 17: N of Iltems = 6; Cor. B = 0.85; *Ave. B Change = -0.06; **Position Shift = 1.17
1 |Form 18: N of Items = 6; Cor. B = 0.99; Ave. B Change = 0.05; Position Shift = 1.50
Form 19: N of Iltems = 6; Cor. B = 0.96; Ave. B Change = 0.04; Position Shift = 0.17
Form 20: N of Items = 6; Cor. B = 0.90; Ave. B Change = -0.05; Position Shift = 1.50
All Forms: N of Iltems = 24; Cor. B = 0.93; Ave. B Change = -0.01; Position Shift = 1.08
(SD B Change = 0.23)
*B parameter is on the IRT scale. Change = New B - Old B.
**Posijtion shift is based on the final anchor set. o)
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hiro.fukuhara
Text Box
Form 17: N of Items = 6; Cor. B = 0.85; *Ave. B Change = -0.06; **Position Shift = 1.17
Form 18: N of Items = 6; Cor. B = 0.99; Ave. B Change = 0.05; Position Shift  = 1.50
Form 19: N of Items = 6; Cor. B = 0.96; Ave. B Change = 0.04; Position Shift = 0.17
Form 20: N of Items = 6; Cor. B = 0.90; Ave. B Change = -0.05; Position Shift = 1.50
All Forms: N of Items = 24; Cor. B = 0.93; Ave. B Change = -0.01; Position Shift = 1.08 
                                                                   (SD B Change = 0.23)
*B parameter is on the IRT scale. Change = New B - Old B.
**Position shift is based on the final anchor set.
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tem characteristi
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WQ >
L] Form 00: N of Items = 13; Cor. A = 0.92; *Position Shift = 0.77
Form 19: N of Items = 4; Cor. A = 0.96; Position Shift =-7.25
Form 20: N of Items = 8; Cor. A = 0.83; Position Shift = -6.00
- |All Forms: N of Items = 25; Cor. A = 0.85; Position Shift = -2.68
4
*Position shift is based on the final anchor set.
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Text Box
a parameter

hiro.fukuhara
Text Box
Form 00: N of Items = 13; Cor. A = 0.92; *Position Shift = 0.77
Form 19: N of Items = 4; Cor. A = 0.96; Position Shift = -7.25
Form 20: N of Items = 8; Cor. A = 0.83; Position Shift = -6.00
All Forms: N of Items = 25; Cor. A = 0.85; Position Shift = -2.68

*Position shift is based on the final anchor set.


2009 Grade 7 Reading — Final Solution

#+x Comparison of [tem characteristic curves (ICCs): New vs. 0ld #++[bparameter]

nNeEwop = o .-l

Form 00: N of Items = 13; Cor. B = 0.98; *Ave. B Change = 0.08; **Position Shift = 0.77
| |Form 19: N of Items = 4; Cor. B = 0.76; Ave. B Change = -0.18; Position Shift = -7.25
Form 20: N of Items = 8; Cor. B = 0.91; Ave. B Change = -0.06; Position Shift = -6.00
All Forms: N of Items = 25; Cor. B = 0.92; Ave. B Change = -0.01; Position Shift = -2.68
(SD B Change = 0.31)
*B parameter is on the IRT scale. Change = New B - Old B.
**Position shift is based on the final anchor set.
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hiro.fukuhara
Text Box
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hiro.fukuhara
Text Box
Form 00: N of Items = 13; Cor. B = 0.98; *Ave. B Change = 0.08; **Position Shift = 0.77
Form 19: N of Items = 4; Cor. B = 0.76; Ave. B Change = -0.18; Position Shift = -7.25
Form 20: N of Items = 8; Cor. B = 0.91; Ave. B Change = -0.06; Position Shift = -6.00
All Forms: N of Items = 25; Cor. B = 0.92; Ave. B Change = -0.01; Position Shift = -2.68 
                                                                   (SD B Change = 0.31)
*B parameter is on the IRT scale. Change = New B - Old B.
**Position shift is based on the final anchor set.
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2009 Grade 7 Reading — Final Solution

sx+ Comparison of Item characteristic curves (ICCs): New vs. 0ld ##+[cparameter]
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2009 Grade 8 Reading — Final Solution

«x+ Comparison of [tem characteristic curves (ICCs): New vs. Old x++[aparameter]

a - L Serp
Q _
" Form 00: N of Items = 15; Cor. A = 0.94; *Position Shift = 2.93

Form 17: N of Items = 6; Cor. A = 0.93; Position Shift =-2.17

Form 18: N of Items = 5; Cor. A = 0.90; Position Shift = 4.60

All Forms: N of Items = 26; Cor. A = 0.91; Position Shift = 2.08 0

*Position shift is based on the final anchor set. ©
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hiro.fukuhara
Text Box
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hiro.fukuhara
Text Box
Form 00: N of Items = 15; Cor. A = 0.94; *Position Shift = 2.93 Form 17: N of Items = 6; Cor. A = 0.93; Position Shift = -2.17
Form 18: N of Items = 5; Cor. A = 0.90; Position Shift = 4.60
All Forms: N of Items = 26; Cor. A = 0.91; Position Shift = 2.08

*Position shift is based on the final anchor set.
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Final Solution

s¢% Comporison of Item characteristic curves (ICCs): New vs. 0ld s +[bparameter]
Form 00: N of Iltems = 15; Cor. B = 0.95; *Ave. B Change = 0.08; **Position Shift = 2.93
Form 17: N of Iltems = 6; Cor. B = 0.98; Ave. B Change = -0.29; Position Shift = -2.17
Form 18: N of Iltems = 5; Cor. B = 0.98; Ave. B Change = 0.02; Position Shift = 4.60
All Forms: N of Iltems = 26; Cor. B = 0.95; Ave. B Change = -0.02; Position Shift = 2.08
(SD B Change = 0.25) O
*B parameter is on the IRT scale. Change = New B - Old B. o
**Position shift is based on the final anchor set. O
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hiro.fukuhara
Text Box
Form 00: N of Items = 15; Cor. B = 0.95; *Ave. B Change = 0.08; **Position Shift = 2.93
Form 17: N of Items = 6; Cor. B = 0.98; Ave. B Change = -0.29; Position Shift = -2.17
Form 18: N of Items = 5; Cor. B = 0.98; Ave. B Change = 0.02; Position Shift = 4.60
All Forms: N of Items = 26; Cor. B = 0.95; Ave. B Change = -0.02; Position Shift = 2.08 
                                                                   (SD B Change = 0.25)
*B parameter is on the IRT scale. Change = New B - Old B.
**Position shift is based on the final anchor set.


2009 Grade 8 Reading — Final Solution

¢x+ Comparison of Item characteristic curves (ICCs): New vs. 0ld ##[cparameter]
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2009 Grade 9 Reading — Final Solution

#xx Comparison of [tem characteristic curves ([CCs): New vs. Old *++[aparameter]

n C Il’\' g i
T0 26
i Form 17: N of Iltems = 8; Cor. A = 0.70; *Position Shift = -2.13
Form 18: N of Items = 6; Cor. A = 0.92; Position Shift = -9.67
1 Form 19: N of Items = 8; Cor. A = 0.63; Position Shift = -3.00
{51 Form 20: N of Iltems = 5; Cor. A = 0.92; Position Shift = 1.60
All Forms: N of Items = 27; Cor. A = 0.72; Position Shift = -3.37
*Position shift is based on the final anchor set.
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hiro.fukuhara
Text Box
a parameter

hiro.fukuhara
Text Box
Form 17: N of Items = 8; Cor. A = 0.70; *Position Shift = -2.13
Form 18: N of Items = 6; Cor. A = 0.92; Position Shift  = -9.67
Form 19: N of Items = 8; Cor. A = 0.63; Position Shift = -3.00
Form 20: N of Items = 5; Cor. A = 0.92; Position Shift = 1.60
All Forms: N of Items = 27; Cor. A = 0.72; Position Shift = -3.37

*Position shift is based on the final anchor set.
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Final Solution

¢+ Comparison of Item characteristic curves (ICCs): New vs. 0ld #++[oparameter]
] | |Form 17: N of Iltems = 8; Cor. B = 0.89; *Ave. B Change = 0.16; **Position Shift = -2.13
Form 18: N of Iltems = 6; Cor. B = 0.94; Ave. B Change = 0.04; Position Shift =-9.67
Form 19: N of Iltems = 8; Cor. B = 0.81; Ave. B Change = -0.04; Position Shift = -3.00
Form 20: N of Iltems = 5; Cor. B = 0.99; Ave. B Change = 0.11; Position Shift = 1.60 |
All Forms: N of Items = 27; Cor. B = 0.91; Ave. B Change = 0.07; Position Shift = -3.37 '
(SD B Change = 0.25) ®
*B parameter is on the IRT scale. Change = New B - Old B.
**Position shift is based on the final anchor set. -~ o
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hiro.fukuhara
Text Box
Form 17: N of Items = 8; Cor. B = 0.89; *Ave. B Change = 0.16; **Position Shift = -2.13
Form 18: N of Items = 6; Cor. B = 0.94; Ave. B Change = 0.04; Position Shift  = -9.67
Form 19: N of Items = 8; Cor. B = 0.81; Ave. B Change = -0.04; Position Shift = -3.00
Form 20: N of Items = 5; Cor. B = 0.99; Ave. B Change = 0.11; Position Shift = 1.60
All Forms: N of Items = 27; Cor. B = 0.91; Ave. B Change = 0.07; Position Shift = -3.37 
                                                                   (SD B Change = 0.25)
*B parameter is on the IRT scale. Change = New B - Old B.
**Position shift is based on the final anchor set.
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2009 Grade 9 Reading — Final Solution

«+ Comparison of Item characteristic curves (ICCs): New vs. 0ld #++[cparameter]
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2009 Grade 10 Reading — Final Solution

t++x Comparison of [tem characteristic curves (ICCs):

Form 17: N of Items = 6; Cor. A = 0.24; *Position Shift = 0.17
Form 18: N of Items = 6; Cor. A = 0.83; Position Shift =-12.00
Form 19: N of Items = 6; Cor. A = 0.83; Position Shift = 0.67
Form 20: N of Items = 6; Cor. A = 0.78; Position Shift = 1.60

O O
TR W T .

'| ] All Forms: N of Items = 24; Cor. A = 0.83; Position Shift =-3.17
1 [|*Position shift is based on the final anchor set.
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Text Box
Form 17: N of Items = 6; Cor. A = 0.24; *Position Shift = 0.17
Form 18: N of Items = 6; Cor. A = 0.83; Position Shift  = -12.00
Form 19: N of Items = 6; Cor. A = 0.83; Position Shift = 0.67
Form 20: N of Items = 6; Cor. A = 0.78; Position Shift = 1.60
All Forms: N of Items = 24; Cor. A = 0.83; Position Shift = -3.17

*Position shift is based on the final anchor set.


2009 Grade 10 Reading — Final Solution

tx+ Comparison of [tem charocteristic curves (ICCs): New vs. Old *x«[bparameter]
newb 2 _ = -
] ' Form 17: N of Iltems = 6; Cor. B = 0.93; *Ave. B Change = 0.01; **Position Shift = 0.17
Form 18: N of Iltems = 6; Cor. B = 0.84; Ave. B Change = -0.04; Position Shift =-12.00
Form 19: N of Items = 6; Cor. B = 0.86; Ave. B Change = -0.07; Position Shift = 0.67
Form 20: N of Iltems = 6; Cor. B = 0.73; Ave. B Change = 0.22; Position Shift = 1.60
g All Forms: N of ltems = 24; Cor. B = 0.89; Ave. B Change = 0.03; Position Shift = -3.17
1 (SD B Change = 0.29)
' *B parameter is on the IRT scale. Change = New B - Old B.
**Pgosition shift is based on the final anchor set.
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Text Box
Form 17: N of Items = 6; Cor. B = 0.93; *Ave. B Change = 0.01; **Position Shift = 0.17
Form 18: N of Items = 6; Cor. B = 0.84; Ave. B Change = -0.04; Position Shift  = -12.00
Form 19: N of Items = 6; Cor. B = 0.86; Ave. B Change = -0.07; Position Shift = 0.67
Form 20: N of Items = 6; Cor. B = 0.73; Ave. B Change = 0.22; Position Shift = 1.60
All Forms: N of Items = 24; Cor. B = 0.89; Ave. B Change = 0.03; Position Shift = -3.17 
                                                                   (SD B Change = 0.29)
*B parameter is on the IRT scale. Change = New B - Old B.
**Position shift is based on the final anchor set.
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2009 Grade 10 Reading — Final Solution

t++ Comparison of ltem charocteristic curves (ICCs): New vs. 0ld *#*x[cparameter]
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